Calculo mental n2 23

iTienes tres minutos para responder!

LICHD MCERTENARIO

L-n;S‘F

1o+ 2= Zn|3-0= “41a-2=
‘le-4= Z1242= 215-8=
‘5+1= ®16-1= #l2-1=
ila-o0= #l0+1= “(3+0=
Sl2+0= =(2-0= %[5 -2=
“(3-3= % 1+41= %12-2=
7[1=-1= 27 [ p+3= 47 [g-1=
l1+4= #16-2= ®l4-4=
‘la+o0= 215-0= 911+5=
014+3= H13-1= P13+3=
(g +1= "2+1= n13+1=
1216-5= 210+6= 215-3=
B2+ a= %[3-2= #la-1=
46— 6= #i140= 4(243=
56+ 0= Bl0+0= Blasr2=
¥11-0= *11+2= *|5+0=
g—3= 37 10+5=

B 0-0= #15-4=

"0 +4= ®6-0=

20134 2= 0 4-3=

Velocidad 1° basico

Nimero de respuestas correctas

Muy lento 15-25
Lento 26-135
Mediano 36-45
Rapido A6 -55
Automatico 56

toLIVEWORKSHEETS



